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Name (Print Clearly): Student Number:

MTHI132 Section 5 & 18, Test 4

Dec 1,2008  Instructor: Dr. W. Wu

Instructions: Answer the following questions in the space provided. There is more than adequate
space provided to answer each question. The total time allowed for this quiz is 50 minutes.

1[5 pts each]. Find the derivatives. ‘ . A(’“x) é o N .
® »=Josin* 4 LM fee)dt f( ) b0) =
O A
I N2 ! A o < 2
y = S/ATX /x’) - SN0 0 = S X
0 ) 5 7
() y= [e1+1)dr b)) = X5 boo=0, o bx)=0

y' =X (x%) o) = a1+ xY)

2. [6 pts each]. Find indefinite integrals.

(a) I4x\/1+2x2dx [@-t '[: |+ 23(2 - So L‘J’"t = 4X¢\/X
= JH de

3 | 72
. %{/ﬂt C = 20+2x)+ C
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(b) sz;&dx
= (b~ X"l = (xdx o - J <" dx

. .
= 3x"-2%x7 +C

3. [7 pts each]. Evaluate the definite integrals.

2
(@) [x(1-x")dx

0 .
' | | 0° G » 22

e o 5 e 1 el 2Y - = -2

- g (X ‘“X&)@)’C = léx - 55 ]0 = (A c 0 = 7%

nl2
(b) I (2sin’x - cosx)dx
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oM%Y =1, SA(-F) = -1
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4. n2pts). Let f(x)=x>—4x+3, 0<x<5.

5
(a) Compute .[ f(x)dx
0

3 S PAY 2§
— 2 z. . - =7 - '
= N o-2x43X | = 5 - 2:28 +1$= 7 -3§
25 (S 2o
> X = e

(b) Find the total area enclosedl by x-axis and the graph of f(x) over [0,5]

Total Area = Iﬁi i]b(*)ls’\(’ ‘f}ﬁ}(ﬂﬂ/x
+ [ [ Hoode

5 [12 pts]. Find the area of the region enclosed by the curve x = y2 and the line y = x.

go(utibr | ,",\wti“r&{“i'i*)x, WYt
J ) ) :

7 = (;( p : = X ) (f u{?/?é Vo (wle o ‘/: \;/AX )

~ 2 5/2_ i 2 ’

Area = (fx '—XJJX = [E’V -2 X ?o
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g,)/uf{i(s’h 2 . ,\ix'f??:yﬂv’l‘:é‘?\ U‘) fT : ‘\j
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D(J j) J iaj j v
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3
é [10 pts] Set up a Riemann sum approximation to the integral j (x* +1)dx by partitioning the interval [1,3]
1

into 4 subintervals of equal length and using the left endpoint of each subinterval.
(a) Evaluate this sum.

”‘\ 3 - ]
ax= 25 o 2L ]

Xk = (X"[-k*A\(;!"-Fég

(k= Xy ( w,/b&; #le /ej!’f .ew:p[’*t)
(\K = 0+ k”z\/ = k;' ( Y;Zf/&(.e, k Lj - i« X;;T /4"'5;
Tl = (k2y'+ |
) j
ﬁifﬁdéK Zlk w3

K=
g

(2% '+ 7 ) (Am)f( +()] =

(b). Sketch the graph of y = x* +1 over
\

)4

]. Sketch (shade) the rectangles associated to this Riemann Sum.




